1) #4458 5 #® D E Mk BfasE3IH1A

HROTMBHUIRRRE 6

B 4 =
M f1 4 5 &£ 3 B
5% 1
X 1831 88%E : 12«1 Ao RS H B N % B
B U3 782 AR 3981 HWeE 7 ®A 17
B (B 1,925 & 2056) “FEr- 4 @R 22

BADCZ & &
18 £EGLES 218 HooAB
38 on%.HodA 228 MBTEH
78 MHpSESE 248 FHEBRG
188 HEAY 250 EBXEo&H

1.7k #8 (1 0axy)

Telx 5 K x L& ® & % 3 [
W | (e | AT [ e AT R o 2ol | @ Bz
k [&=] =] %] M & ] =) =5/ M = (2]
K & s | 324 . 0
¥ E 5111 13178 ] 63339 11620| 445| 3267| 2400| 947 |2238] 6382117299 | 50,040 44

2 il (10a%Yy)

»

B % S %3]
g om [ww|mm|w A GH[E b |28 msrsceae paplpemzon] s | s

. K g [=] ]
inlx 11.672) 176 23427 17%’ 5032

H #1331 180| 23958 | 34| 814 :
M B 132(9495(127974 (432 5528|1,1491386213534| 730 949 {1.480!3734115538| 24516
|E} | 1702] 175| 29907 {959 | 28680,

3. WERImA ORI

= ] ] = E] = =] =]

o Y9 S8} SO N WO L H I ¥ e

MEAIN | AED | ol A REEIRESREEEE

7 B e &

— R B T 0 M R D R

woRrR| 3O | TEHEHE RNt - TTERZRHS

B MO (B | B ZE | B

A 4 Ak nay [38.0007 %, 4| 194Y 52300/
LR £0,700 7 F K | Boe1 549 5,500/

B 45000 F K (SO 15N 63,900/

HESIR 38000 & BT 190H
AL j 37000 ] Foq 5= ” 200 1

® 1B 60000 | (BExaie)

3 H 58000 [ -

_23_



